
ВеEна пDекDаEная. ВеEна опаEная! 

Вот у6е Eол=OHко =4G8=4ет G4Iе 6O7лOдO64тP 
87-74 EеDOE 78<=8E туG, 6Eе 5олPHе D4дует =4E 
E6о8< тепло< 8 E6ето<, д=8 Eт4=о6OтEO 
дл8==ее& А Qто 7=4G8т, Gто 78<4 уEтуп4ет 6еE=е 
доDо7у. !коDо по6ENду по5е7ут DуGP8, пт8FO 
74поNт E6о8 6еEе==8е пеE=8, пD8Dод4 5удет 
=4пол=OтPEO 5олее ODк8<8 8 D4ду6=O<8 
кD4Eк4<8& 

 

          Но, D4дуOEP пD8Eоду 6еE=O, =е Eто8т 
745O64тP о5 оп4E=оEтOE, котоDOе поO6лONтEO 6 
Qтот пеD8од 6Dе<е=8:  
 

1. ОEтоDо6но, тонк89 лед! �D85л864етEO 6Dе<O 6еEе==е7о п46одк4. Лед =4 6одое<4E 
Eт4=о68тEO DOEлO< 8 =епDоG=O<, EотO 6=еH=е к46етEO кDепк8<. Т4к6е оп4E=O <елк8е 6одое<O - 
E=е7 т4ет, 6од4 6 =8E под=8<4етEO 8 т4<, 7де еIе 6GеD4 5Oло <елко, Eе7од=O у6е <о6ет 5OтP 
7лу5око. �ет8 =е 6Eе7д4 оEо7=4Nт оп4E=оEт8, котоDOе 8E под68д4Nт, поQто<у, =е оEт46лO9те дете9 
5е7 пD8E<отD4! �о<=8те: 6 пеD8од 6еEе==е7о п46одк4 8 ледоEод4 �А� �ЩА�Т!Я 6OEод8тP =4 
6одое<O! 

2. ОEтоDо6но, EоEулPк8! Т4лO9 E=е7 8 EоEулPк8 =4 кDOH4E до<о6 пDедEт46лONт 
5олPHуN у7Dо7у длO 7доDо6PO 8 687=8 лNде9.  �оQто<у 6Eе7д4 о5D4I49те 6=8<4=8е =4 
о7оDо6е==Oе уG4Eтк8 тDоту4Dо6 8 =8 6 кое< EлуG4е =е 74Eод8те 6 оп4E=Oе 7о=O. ОEтоDо6=оEтP Eто8т 
Eо5лNд4тP 6Eе7д4:  д46е 6 то< EлуG4е, еEл8 о7D46де=8е отEутEт6ует, по 6о7<о6=оEт8 =е подEод8те 
5л87ко к Eте=4< 7д4=89. 

3. ОEтоDо6но, 7ололед! �Eл8 =4 ул8Fе 7ололед, пеDед68749теEP оEтоDо6=о, =е тоDопOEP, 
=4Eтуп4O =4 6EN Eтопу. Не Eто9те 5л87ко к кD4N пDое76е9 G4Eт8 =4 оEт4=о6к4E о5IеEт6е==о7о 
тD4=EпоDт4, т4к к4к пD8 тоD<о6е=88 8л8 тDо74=88 E <еEт4, 46то5уE/<4DHDутку <о6ет 74=еEт8. ОEо5о 
6=8<4телP=O<8 5удPте пD8 пеDеEоде ул8FO 6 уEт4=о6ле==OE длO Qто7о <еEт4E. Не =4G8=49те E6ое 
д686е=8е до пол=о9 оEт4=о6к8 тD4=EпоDт=о7о EDедEт64. �о<=8те, Gто тоD<о7=о9 путP 46то<о58лO 
7=4G8телP=о  у6ел8G864етEO 6 уEло68OE 7ололед8FO! 

4. ПDоEтуднOе 745оле64н8я. В 6еEе==89 пеD8од <=о78е 67DоEлOе 8 дет8 EтD4д4Nт 
пDоEтуд=O<8 745оле64=8O<8. �D8G8=о9 Qто7о <о6ет 5OтP 468т4<8=о7 8л8 =епD468лP=о 6O5D4==4O 
оде6д4. ВеE=о9, д46е еEл8 еIе 6 =екотоDOE <еEт4E ле68т E=е7, оде6д4 Dе5е=к4 дол6=4 5OтP у6е =е 
т4ко9 тепло9, к4к 78<о9. �о<=8те, Gто дет8 =4 ул8Fе =4<=о7о 4кт86=ее 67DоEлOE, 4 укут4==O9 
Dе5е=ок 5OEтDо 6Eпотеет 8 е7о пDодует E8лP=O9 6еEе==89 6етеD. �ел4телP=о, Gто5O оде6д4 5Oл4  

Eле7к4 утепле==4O, =епDо<ок4е<4O 8 74I8I4л4 от 6етD4. Но 8 GDе7<еD=о EпеH8тP D47де64тP Dе5е=к4 
то6е =е Eледует. О5у6P т4к6е дол6=4 5OтP =епDо<ок4е<о9, 6 Qтот пеD8од подо9дут Dе78=о6Oе 
E4по78. �Dоко=EулPт8Dу9теEP E леG4I8< 6D4Gо< по по6оду укDепле=8O 8<<у=8тет4 8 74I8тO от 
68DуEо6. 

У6464е<Oе Dод8тел8, D4дуOEP пD8ходу 6еE=O, =е 745удPте поEтоO==о =4по<8=4тP Dе5е=ку 
о пD468л4х 5е7оп4E=оEт8 6 6еEе==89 пеD8од 8 Eо5лNд49те Qт8 пD468л4 E4<8.  

По<=8те, что 5еEпеч=оEтP, поDо9, 74к4=ч864етEO тD478чеEк8! 
 

�од7ото68л4: 
ВоEп8т4телP ЛP6о64 �. В. 



 


